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1. distance = 4.35 light years
distance = 4.35 light years × ⎯
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m⎯ = 4.12 × 1016 m

a. distance = 4.12 × 1016 m × ⎯1
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b. distance = 4.12 × 1016 m × ⎯
10

1
−
p
12
m

m
⎯ = 4.12 × 1028 pm

4.12 × 1010 Mm
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2. energy = 1.2 × 1044 J
a. energy = 1.2 × 1044 J × ⎯
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b. energy = 1.2 × 1044 J × ⎯
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⎯ = 1.2 × 1053 nJ

1.2 × 1041 kJ

6. m = 1.90 × 105 kg
m = 1.90 × 105 kg × ⎯
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a. m = 1.07 × 1041 eV × ⎯1
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b. m = 1.07 × 1041 eV × ⎯
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⎯ = 1.07 × 1029 TeV

1.07 × 1035 MeV

4. distance = 152 100 000 km
a. distance = 152 100 000 km × ⎯1
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b. distance = 152 100 000 km × ⎯1
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⎯ = 1.521 × 10−13 Ym

1.521 × 1035 ym

5. energy = 2.1 × 1015 W •h
a. energy = 2.1 × 1015 W •h × ⎯1
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b. energy = 7.6 × 1018 J × ⎯
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⎯ = 7.6 × 109 GJ

7.6 × 1018 J

3. m = 1.0 × 10−16 g
a. m = 1.0 × 10−16 g × ⎯
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b. m = 1.0 × 10−16 g × ⎯
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c. m = 1.0 × 10−16 g × ⎯
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⎯ = 1.0 × 102 ag

0.10 fg

1.0 × 10−31 Pg
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7. m = (200)(2 × 1030 kg) =
4 × 1032 kg a. m = 4 × 1032 kg × × =

b. m = 4 × 1032 kg × ⎯1
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⎯ = 4 × 1017 Eg

4 × 1038 mg
103mg
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103 g
!
1 kg
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8. area = 166 241 700 km2

depth = 3940 m

V = volume = area × depth

V = (166 241 700 km2)(3940 m) × !⎯11
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V = 6.55 × 1017 m3

a. V = 6.55 × 1017 m3 × ⎯10
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b. V = 6.55 × 1017 m3 × ⎯10
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⎯ = 6.55 × 1026 mm3

6.55 × 1023 cm3
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